
G = 6.67× 10−11 N ·m2/kg2

g = 9.8m/s2

c = 3.00× 108m/s
ρice = 0.92× 103kg/m3

ρwater = 1.00× 103kg/m3

ρblood = 1.06× 103kg/m3

ρlead = 11.3× 103kg/m3

αaluminum = 2.4× 10−5K−1

αcopper = 1.7× 10−5K−1

αsteel = 1.2× 10−5K−1

caluminum = 910J/ (kg ·K)
ccopper = 390J/ (kg ·K)
cwater = 4190J/ (kg ·K)

cice = 2100J/ (kg ·K)
Lf (copper) = 134× 103J/kg

Lf (mercury) = 11.8× 103J/kg
Lf (water) = 334× 103J/kg

Lv (copper) = 5069× 103J/kg
Lv (mercury) = 272× 103J/kg

Lv (water) = 2256× 103J/kg
NA = 6.02× 1023 mol−1

MEarth = 5.97× 1024 kg
REarth = 6.38× 106m

me = 9.11× 10−31 kg
mp = 1.67× 10−27 kg
1 m = 3.28 ft
1 lb = 4.45 N
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